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Ha 05 ¢pespans 2025 rona
3aBTpak BBIXO0] HeHa
fecniaTHOe MHTaHHE
Kaiua Bs3kas«ApTeKoBCKas» 200/5 30=09
Sliinia BapeHsle 40 16=62
Yaii ¢ caxapom 200 3=44
batoH 30 3=60
X71eb pikaHO-NIIEHUYHBIN 20 2=00
HUTOI'O: 55=75
ObGen BBIXO0/1 HeHa
IJIaTHOE MHTAHHE
Kotnera ppibHas 90 55=16
[Trope kapTodenbHoe ¢ MacaoM CIIMB. 150/5 24=80
Hanurok anesibCHHOBBIN 200 8=83
X1eb p)KaHO-TIIEHUYHbIH 20 2=00

Memnio 5-11 kiacenl

Ha 05 ¢eBpans 2025 roaa

HUTOI0O: 90=79

3aBTpak BBIXO0/1 HeHa
IJIATHOE MHTAHHE
Kama Bsi3kas«ApTeKoBcKas» 250 3/-63
baron 30 3=60
Sina BapeHble 40 16=62
Yaii ¢ caxapom 200 3=44
HUTOI'O: 61=29
Oben BBIX0/ HeHa
IJIATHOE MHTaHHe
Kotnera pribHas 100 61=30
ITrope kaprodensHOE 180/5 28=21
HanuTok anenbcuHOBBIN 200 8=83
Xneb prkaHO-NIIEHUYHbIH 20 2=00
Coyc KpacHbII OCHOBHOM 50 3=74
HUTOI'0:104=08
JlonmoTHHTe/IbHOE MEHIO BBIXO0/1 HeHa
( JIaTHOE MUTAHHE )
Pacconbuuk Jlenunrpaackuii co cmetanoi 200/10 20=00
250/10 23=00




YTBepxaaw

W 0.A.KuniuHa

v
Meno 1-4 kaaccenl
Ha 06 ¢peBpans 2025 roaa
3aBTpak BBIXO0] HeHa
OecnyiaTHOe MHTAHHE
Kama s;suneBast Mono4Hast 200 20=91
Macino (mopiusimm) 10 11=86
baton 30 3=60
X7neb prkaHO-NIICHUYHBIH 20 2=00
Yaii ¢ caxapoM M JUMOHOM 200 6=17
HUTOI'O: 44=54
Oben BBIXO/1 HeHa
IJIaTHOE MIHTAHHE
Orypen cosieHbIi Hape3Ka 30 10=42
Kotnera pybneHHas U3 NTUIbI 90 56=36
Puc oTBapHO# C MacaOM CIMBOYHBIM 150/5 13=71
Komnot u3 cMecu cyxopyKTOB 200 9=09
X7neb prKkaHO-MIIEHUYHbIN 20 2=00
HUTOI'0:91=58
Menio 5-11 kinaccenl
Ha 06 ¢deBpans 2025 roaa
3aBTpak BbIX0] neHa
IVIATHOE IIHTAHHE
Kama s;yHeBast Moo4Hast 250 26=14
baton 30 3=60
Macio (mopuusimMu) 10 11=86
Yaii ¢ caxapoM U IJMMOHOM 200 =17
HUTOI'O: 47=77
Oben BBIX0] 1eHa
IJIaTHOEe MHTAHHE
Orypell CoJIeHBIN Hape3Kka 30 10=42
Kotnera py6iieHHast U3 NTUIBI 100 66=12
Puc oTBapHO# ¢ MaciioM CIMBOYHBIM 180/5 15=26
KoMmnor u3 cmecu cyXxoppyKTOB 200 9=09
Xneb pxKaHO-NIIEeHUYHbBIH 20 2=00
HUTOI'O: 102=89
Jlono/IHMTeIbHOE MeHI0 BBIXO] HeHa
( mIaTHOe MHUTaHHE )
bopii U3 cB.KamycThl ¢ KapTod. CO CMETAHOM 200/10 18=00
250/10 21=00




